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(ONLINE EXAM)
SECTION - A
(Long type questions)
(el g )
Attempt any one question: 1x20=20

fodt v gy &1 SR <

Qu.1. What do you understand by Embryology? Discuss.
ol A9 @ IR A U« 9Hsid 22 T4l Hiferd |

Qu.2. Discuss about any one bio-medical technology used in diagnosis of diseases.

M & @ d ygaa fef e sla—fafecar aoie & IR o ==t 3w |

Qu.3. What do you understand by excretory system? Discuss with some diseases.

IS YOIl | 3ITY T |usd 82 |8 JHiRAl afgd ==t S |

(Section-B)
Short type questions
oY gy
Attempt any two of the following questions. 2x10= 20
fo=gl T yel @ SR ]

Q-1. What is gene therapy?
S Rt @ 37

Q-2. Write short notes on ‘Nutrition of embryo’.

tigat @ givor W dferg feweh falRad |

Q-3. What is immunity lymphocyte?
gftrar favsiarge (Immunity lymphocyte) @m 87



Q-4. Discuss about the use of Anatomical plane. Give examples also.

TACdd W9 & ST & aR & Tdaf HIford | Sarexer €t AR |

(Section-C)
Objective type questions
EENIRLSIUES |
Attempt each of the questions. 40x1%2 = 60
il gl & SR T
(1) Name of germ layers is -
(a) Endoderm (b) Ectoderm
(c) Both (d) None
SR (Germ layer) &T A1 © —
(a) Endoderm (b) Ectoderm
(c) <i=it (d) Big &
(2) The normal site of fertilization is -
(a) Fallopian tube (b) Ovary
(c) Uterus (d) All
ar=d: s fee v uR glar @ -
(a) DAfaT g9 (b) JrvsTIRI
(c) THierm (d) |+
(3) Each testes contains about compartments -
(a) 1000 (b) 250
(c) 500 (d) None
yA® gueT H T ———vs (Compartments) gid 2 —
(a) 1000 (b) 250
(c) 500 (d) ®1$ =8
(4) Timing of development of placenta is weeks -
(a) 15-16 (b)6-12
(c)12-18 (d) None
el @ fae™ o1 9wy ————— S8 © —
(a) 15-16 (b)6-12
(c)12-18 (d) &g T8
(5) InPET, ‘P’ stands for -
(a) Protron (b) Positive
(c) Positron (d) None
PET® ‘P’ &1 arcadf & —
(a) Protron (b) Positive

(c) Positron (d) ®ig =gl



(6) Type of ‘T’ Lymphocytes is -

(@) 2 (b) 3
(c)4 (d) None
T fompigse i yoR @ 8id 2—
(a) 2 (b) 3
(c)4 (d) BIg &
(7) After fertilization Zygote reaches in uterine cavity as -
(a) 16 cell stage (b) 8 cell stage
(c) 32 cell stage (d) None
T @ a1 S iRl BT § e )9 9 uggarn 2
(a) 16 cell stage (b) 8 cell stage
(c) 32 cell stage (d) &g =&l
(8) Teratology is the study of anomalies -
(a) Congenital (b) Postnatal
(c) Both (d) None
Teratology ———— fagwfoay &1 ey HrdTar 2
(a) Congenital (b) Postnatal
(c) <t (d) ®I$ 1L
(9) wave is used in Echo Cardiography -
(a) Alpha (b) Beta
(c) Ultrasound (d) None
Echo cardiography # ———a=T 9T &1 STl 8—
(a) Alpha (b) Beta
(c) Ultrasound (d) ®ig =gl
(10) Malignant tumors are -
(a) Benign (b) Cancerous
(c) Both (d) None
Malignant tumors &T 31ef 2—
(a) Benign (b) Cancerous
(c) gI=I (d) Big &
(11) Hemodiolysis is used for problem -
(a) Lungs (b) Kidney
(c) Both (d) None
SHTSHAfIRT &1 JIR———— @ grafea I A fear smar @ —
(a) BH (b) g7

(c) giY (d) &g &



(12)

(13)

(14)

(19)

(16)

(17)

By the end of 3" week Embryo is about -

(a) 5cm (b) 4.5 cm
(c)2.1cm (d) None
TR IwE @ 915 Embryo @1 size glar & —
(@) 5cm (b) 4.5 cm

(c) 2.1 cm (d) dig =&l

is the term to express first ever natural bleeding per vaginum in
female -

(a) Menopause (b) Menarche

(c) Dysmenorrhea (d) None

Afger &1 AT |/ T araT YoM TG fae Iaq9Ed HEar v —
(a) ATTATS (b) A=t

(c) feam=Ran (d) dig =8I

Germinal period is period of after ovulation -

(a) 9 months (b) 9 days

(c) 18 months (d) None

wiffral iRTrs 3ftgete™ (Ovulation) & TwaTg ———— P Irafer st 2
(a) 9 HIE (b) 9 f&=1

(c) 18 18 (d) &g &l

Morula is cell staged embryo -

(a) 16 (b) 8

(c) 32 (d) None

MeAT ———— PIRTHT LS BEardl 8 —

(a) 16 (b) 8

(c) 32 (d) ®1g TEl

Dizygotic twins are of sex -

(a) Same (b) Different

(c) Both (d) None

SHSgMfed qar sed ———fdT & Fd -

(a) b IR (b) 3rel T YR

(c) <i=it (d) BIg &

The nerve cells for each five senses develop in brain by week -
(@) 19 & 20 (b) 24 & 25

(c)17 & 18 (d) None

gl sHfsal @ fay aiass 4 e sl o oo’ ———— s d
Bl B—

(a) 19 3R 20 (b) 24 3R 25

(c) 17 @ 18 (d) ®Ig L



(18) Functioning of digestive system is developed in between __ weeks -

(@)2-3 (b)13-14
(c)22-24 (d) None
9T F B Hr gorTell &1 faery ———— g & Ay ghal 8-
(@)2-3 (b)13-14
(c)22-24 (d) &g T8
(19) Zygote derive their nourishment from -
(a) Ova (b) Primary Oocyte
(c) Sperm (d) None
SITSIE AT giyer =1 9 ddr 28—
(a) IAvSTYL (b) UTSHRY AT
(c) v (d) BIg &
(20) Blastocyst has about  cells -
(a) 30 (b) 60
(c) 90 (d) None
reiiRe § T ———— SIRTHT Bl 8-
(a) 30 (b) 60
(c) 90 (d) ®1g Tl
(21) Polygraphy is -
(a) Lie detector (b) For monitoring of stages of sleep
(c) Both (d) None
refiowl udger ———— ghaT 8-
(a) [ UdsH & fay (b) Fre1T @ faft=1 W= wua @ fay
(c) <=l (d) BIs 2T
(22) InIgE, ‘g’ stands for -
(a) General (b) Globin
(c) Gigo (d) None
IgE & ‘g’ &1 arcad ? —
(a) General (b) Globin
(c) Gigo (d) ®1g T
(23) is a process through which an embryo gets fixed and embedded
within the endometrium of uterus -
(a) Implantation (b) Fertilization
(c) Ovalution (d) None
e gfpar @ o v 1 i 9t ke daR |9 faue
ST 28—
(a) Implantation (b) Fertilization

(c) Ovalution (d) &g =&l



(24) The length of Umlical cord -

(a) 50+5 cm (b) 40+5 cm
(c) 30+5 cm (d) None
Umlical cord @ a/18 Bldl 28—
(a) 50+5 cm (b) 40+5 cm
(c) 30+5 cm (d) &g =&l
(25) From 9" week onward period of intrauterine life is known as
period -
(a) Germinal (b) Foetal
(c) Both (d) None
el Sffld &1 od AW ¥ AT T 9T HEdTdl & —
(a) Germinal (b) Foetal
(c) <i=it (d) Big &
(26) HIV destroy the immune system of body deactivating lymphocyte -
(@) Th (b) Ts
(c) Tn (d) None
HIV ———— forpivrse & Ay o3 AT yfRigs a9ar &1 a9 &)
qd B —
(@) Th (b) Ts
(c) Tn (d) ®1g T

(27) The weight of embryo during 13 and 14 weeks is ounce -
(a) 1 (b) 2

(c)3 (d) None
13 3R 14 9« & IRME YT BT o4 ———3ATS hal 8 —
(a) 1 (b) 2
(c)3 (d) ®1g Tl
(28) is a type of cancer -
(a) Malanomas (b) Bipomas
(c) Typhoid (d) None
——— TP YPR BT DU B |
(a) frat=er (b) ST3UIT
(C) TTIBIIS (d) &g =&l
(29) Lymphocytes are used for cellular immunity -
@T (b) B
(c)D (d) None
————— forpiurge SIe s e o ygaa gd &€ -
(@T (b)B

(c)D (d) g 7



(30)

(31)

(32)

(33)

(34)

(39)

Members of RE system -

(a) Plasma (b) WBC

(c) RBC (d) None

RE @3 (System) @& 90 € —

(a) Plasma (b) WBC

(c) RBC (d) &g T8

Notochord develops to form the axis -

(a) Horizontal (b) Front back

(c) Central (d) None

Teiere fasfia gy o aier a9t 8-

(a) Horizontal (b) Front back

(c) Central (d) &g T8

Type - 1 Diabetes Mellitus is known as Diabetes Mellitus.

(a) Juvenile (b) Viral

(c) Both (d) None

Type - 1 Diabetes Mellitus & ————— Diabetes Mellitus Y &&T SITaT B |

(a) Juvenile (b) Viral

(c) 1t (d) g Tl
lons are the basis of MRI scanning -

(a)H (b) OH

(c) Both (d) None

MRI T1&70T &T ATER ———— AT BId B8 —

(a)H (b) OH

(c) 1t (d) BIg Tl

In ELISA, ‘A’ stands for -

(a) Alisa (b) Assay

(c) Antigen (d) None

ELISAH ‘A’ &1 arcadf @ —

(a) Alisa (b) Assay

(c) Antigen (d) B3 T8

Laparoscope is the study of -

(a) Uterus (b) Stomach

(c) Urethra (d) None

Au®eig 9 @ fag segaa 8 -

(a) At (b) IR

(c) gARTI (d) &g -T2Y



(36)

(37)

(38)

(39)

(40)

Professional killer are cell -

(@) Th (b) Ts

(c) Tc (d) None

NHIAa fheR ———— SIRPIY T —

(@) Th (b) Ts

(c) Tc (d) ®ig =gl
Increased levels of ALP is found in -

(a) Growing children (b) Pregnant women
(c) Both (d) None

ALP &T &R 9gT g fierar 8-

(a) 9¢d BY d=Ai | (b) et afgemsn 4
(c) <1t (d) ®1g T

Which of the following is the appendage of skin -

(a) Sebaceous glands (b) Hair

(c) Sweat glands (d) All

1 ¥ @ S99 9T &1 SUIT ? -

(a) adrT i (b) 9Tc1

(c) W<g T (d) |+

Inner lining of hollow organs is made up of tissue -
(a) Connective (b) Epithelial

(c) Muscle (d) None

G iEga AM &I IFd: IWRd ———— Hdd 4 99T T —
(a) warsh (b) SUFHT

(c) wiaaeh (d) &g T8
Astigmatism is a disease of -

(@) Iris (b) Cornea

(c) Pupil (d) None

gicdy f A 9 feaar S 2-

(@) lris (b) Cornea

(c) Pupil (d) pig T8



